AR B AT

*

ANALHF A B: 447 H 2 H

A K O Bl B 4 B OF A AL
HH Y 4 REERES JE SR
AR R R R SFIAERE  ERFREE 1 5
¥ B 4 F& 42 78 W S s
e i o)™ FTH - I8 - Bkl - EE) BN
& TR - 52 T RE Sf4ETH28H ~ SM543H15H
ERTCH AR REE N=23 916
FTHRHX 9 1. IEHX 3915
BEILMIK 5 34, MG)IMIK 5 61
¥ B M E
itk = FiaA Fr
3 4 m ¥48, 917, 000 ¥53, 808, 700
A KL F A KL FE R OBk X))
e X X4 W 1 [ % 2 [ % 3 | g B
Mt h—=Fa 1%
21 AL 18, 000, 000
N =7 U o TR
A O L T 48, 917, 000
A= 1 FIATIIE 10,000, 00
én&zyﬁw&ykﬁﬁ% 46, 500, 000
B AAE T — 5o A =7
BRI LB T 35, 000, 000
MR sttt 22 fugkL Rk 28, 860, 000
§§§%5$4yy_7 n 48, 917, 000
%%ﬁ%i;jy%”&yy 95, 400, 000 VAL
MRS ARG 217, 300, 000
Mt — & Hhf 33, 280, 000
RS/ N Foik L g 2 25, 780, 000
oAk LT AR s 48,917, 000
%gﬁ%iﬁjy%”&yb 46, 500, 000




A AL 1T
ANALHF A B: 447 H 2 H
AN KL O Bl 8 4 B 4P A AL
H Y 34 FREERER  E ) FR
EBFEE N O LTS BRAEE EEELE 15
¥ B 4 B G B S At LR B 5 2675
EN Feo )T BEILETEE A M HipN
%%ﬁ%-ﬁTﬁ% SR4ETH28H ~ SMM4412H28H
BRI 5 R
fEE L=500m M8 W=3.5m
ﬁﬁ*zéa&;ﬂcligﬁt%ﬁ;@) &0 S m X /ER  L=500m
w3 il T 45 #1275
kB M= @E IjﬁL?SSmﬁfFaaE W=3. 5m
AALEEET (CBRERBAE o)  1f&FT &S VmXfERK L=785m
Bk = BiIA A
B & KA ¥2, 715, 000 ¥2, 986, 500
A K F A KL AREROCB ko)
(= G = 2 N %1 = %5 2 [=] % 3 =] i
HRREALM = ERRE o e
|2 2, 410, 000 B
AP ILgEE a e X
R o 2,600, 000
%ﬁ%ﬁﬁﬁ&ﬁ oo B 9. 650, 000
SEPT
F [ B s S AT 2, 500, 000
Rt o 2 =5 2, 600, 000
ﬁ@%ﬁNAOﬁE o)l 9. 450, 000
= ERT
YA XT VY 2, 430, 000
MRSt 24 Tz oW
NV NINIE 5 2,600, 000
Eﬁﬁémﬁﬁumﬁ )| 9. 700, 000
SEPT
RER S AR T B R B G B
001178 27T 2,500, 000
JH I B 5 F % A 2,600, 000
MRStz 2 2, 650, 000




A AL AT R

ANALHF A B: 447 H 2 H
AN KL O Bl 8 4 B 4P A AL

Y4 FREERER  E ) FR
EBFEE N O LTS DRAERE  BEMREE 15
¥ B 4 T T P8 8P (LS LR B R i
EI oI R HN
%%ﬁ%-ﬁTﬁ% Sf4ETH28H ~ SfM542H13H
FERL=320m IEEW=6.0m—9. Om
M EL=2320m, & ¥EEEMELFHL=190m
FEAAHEL = 190m, JFH HuH| EN= 15
¥ B M E
Bk = FhiiA A
B & KA ¥6, 398, 000 ¥7, 037, 800
A fL F A FL A R OBk 2)
(= G = 2 N %1 (A % 2 [A] % 3 [H i
ﬁgi%ﬁzﬂgﬁﬁ M) 5. 710, 000
AP ILgEE a e X
SR o)l 6,100, 000
Q;@ﬁﬁﬁ&ﬁ oo B 6. 050, 000
F [ B s S AT 5, 600, 000 EHL
MRSt = 2B HAF 5, 900, 000
EﬁﬁﬁNAOQE o)l 5. 700, 000
vAXT v 5, 700, 000
MRSt 24 Tz oW
NV NINIE 5 6,000, 000
g%%éémﬁumzﬁ )| 6. 300, 000
RER S AR T B R B G B
QoL » 5, 750, 000
JH I B 5 F % A 6, 000, 000
MRStz 2 6, 200, 000




A AL AT R

ANALHF A B: 447 H 2 H
AN KL O Bl 8 4 B 4P A AL

Y4 R EEEIER
EBEE R O EBE S SRAERE  JEEE 15
¥ B 4 IR ERRE ¥R
¥ % o)l dbim HiN
%%ﬁ%-ﬁTﬁ% SR4ETH28H ~ SMM4412H26H
SEFRL=65m
W EL=66m, #FaEAE%EL=65m
KA L =65m, FHHIEN= 1
¥ B M E
Bifh = FhiiA A
B & KA ¥1, 889, 000 ¥2,077, 900
A fL F A FL A R OBk 2)
(= G = 2 N %1 (A % 2 [A] % 3 [ i
ﬁgi%[ﬁzﬂl Eﬁu‘[‘ ‘ﬁﬂ@ 1’ 700’ 000
AP ILgEE a e X
RN =pani 1,800, 000
Q%@ﬁﬁﬁ&ﬁ oo B 1,800, 000
F [ B s S AT 1, 750, 000
Mt o R A 1, 780, 000
Eﬁ%ﬁNAO@@ o)l 1, 700, 000
vAXT v 1, 700, 000
MREv 24 Tia 3
AN AT b 790,000
g%@ﬁwﬁ&ﬁ )| 1, 680, 000 L
RER S AR T B R B G B
kL " 1,700,000
JEGR 3% F 5 T 1, 750, 000
MRStz 2 1, 850, 000




